M27447-M-Rev.0-09.23

PROFESSIONAL MEDICAL PRODUCTS

TAVOLINO SERVILETTO
OVERBED TABLE
TABLE DE LIT

MESA SOBRECAMA

MANUALE D’'USO - USER MANUAL — MODE D’EMPLOI - MANUAL DE USO

REF| SkH046-2 (GIMA 27447)

Fabbricante/Manufacturer/Fabricant/Fabricante:

Jiangsu Saikang Medical Equipment Co.,Ltd

No. 35 Lehong Road, Modern Agriculture Demonstration Park,
Zhangjiagang City, Jiangsu Province, China

Made in China

Importato da/lmported by/Importé par/Importado por:
Gima S.p.A.

Via Marconi, 1 - 20060 Gessate (Ml) Italy

gima @ gimaitaly.com - export@gimaitaly.com
www.gimaitaly.com



5 ENGLISH GIMA

CASTERS INSTALLATION

(The picture does not exactly match the actual product, and is for reference only) Take out the ¢10 spring washer from the screw package
and install it with the casters as shown in the figure below.

SPRING WASHER ¢10

1 2
INSTALL THE BASE ELBOW
The picture does not exactly match the actual product, and is only  Install the inner tube downwards and match it with the base. After
for installation instructions reference) the installation is completed, the inner tube is shaken back and

Loosen the screw counterclockwise as shown in the figure until itis  forth to facilitate screw installation.
loose (the nut does not fall).

™ HIn —

Take out the round machine hexagon socket screw M8*25, flat wa-  Re tighten previously loosened M8*120 screws to complete the in-
sher ¢8, spring washer ¢8 from the screw package, first install the stallation.

screws on both sides of the riser, and finally install the screws on

one side of the riser.




¢ GINA ETET

INSTALL THE PALLET

(The picture does not exactly match the actual product, and is only for installation instructions reference)

Lay a protective cushion and turn the main body of the bed upside down; take out the hexagon socket screw M6*16, nut M6, flat washer
@6, spring washer ¢6 from the screw package.

PALLET

N

é_
W
0
o< .
g
INSTALL THE SWITCH INSTALL THE COUNTERTOP
(The picture does not exactly match the actual product, and is only  Take out the round machine hexagon socket screw M6*12, flat wa-
for installation instructions reference) sher ¢6, and spring washer ¢6 from the screw package and install

Install the hexagon socket screw M8*120 of the circular machine, it clockwise.
and install the nut M8 clockwise.

CASTOR USE METHOD

Lock the caster Unlock the caster

After pushing the overbed table to the desired position, depress the  Lift the brake with your foot and unlock the castor when you hear
brake with your foot and lock the caster when you hear a “click} as  a “click”

shown in the figure below.




7 ENGLISH GIMA

LIFTING METHOD SPARE PART REPLACEMENT AND MAINTENANCE

Hold the switch with one hand and lift it up, and press the table with Common
the other hand to lower the table. failures Probable reasons Excluding methods
Hold the switch with one hand and lift it up, and lift the table panel
ith the other hand to rise the table.
Wi e other hand to rise the table 1. The brakes are not 1. Unlock the
released and the caster
» _— Difficult to move casters are locked.
T ~ V4 2. Change the
C 2. The casters are caster

/ damaged.

SWITCH ﬂ PACKAGING, TRANSPORT, STORAGE

1. The packaging of overbed table is carried out according to
contract or product standard.

ﬂ 2. Avoid rushing out, violent vibration, and protection from sunli-
ght and rain during the transportation of the overbed table.

3. The overbed table should be stored:

a) Ambient temperature: -40°C ~ 70°C

b) Relative humidity: < 95%

c) Atmospheric pressure: 500hPa ~ 1060hPa
4. Symbol Explanation:

I .
4 =~ =45Kg The max load is 45Kg

/1N

AL TN

MAINTENANCE

1. Inorder to use the overbed table safely, it is necessary to perform regular safety inspections on the overbed table. It is recommended
to check it every six months to ensure that the connections are not loose and all operations are normal.

2. When the overbed table frame ages and it reaches a certain servicing time, which the metal part of the overbed table and plastic parts
of the overbed table frame can be recycle.

Avoid scratching the panel with sharp-angle appliances or knives during use, and clean it frequently to keep it clean and dry.

If the panel is accidentally stained with stains, it is recommended to clean it. Do not use alkaline or corrosive chemicals to clean the
overbed table, which will cause the surface to rust.

Regularly check the casters to avoid hitting or overloading, which will cause damage to the casters.
It is forbidden to force the casters to brake when braking, which will cause damage to the brake system.

The wear of the tire surface of the wheel can be detected by visual inspection. Some thread spun yarn and other accumulations may
be wrapped around the wheel, remove the bolts and nuts of the wheel, clean up the debris, and check whether the bearing of the
wheel is damaged. If the parts are not damaged, can be reassembled and used.

8. Judging whether the caster is replaced according to the time used, wear and tear, you can replace the wheels and make sure that
the axles bolt and nuts are well put together and connected. If possible, use a lock washers or locknuts to help you with this process.

9. For the casters equipped with brakes, it is necessary to regularly check whether the brakes are working properly. Check the brakes
once a day or before each use. For a overbed table equipped with multiple brake casters, only one brake caster can be locked at a
time which will allow you to try and push the overbed table also check whether one of the brake performance of each caster is good. If
the function of the brake fails due to wear or damage to the wheels, immediately replace the wheels and then retest the brake system.

10. If the mechanism of the brake system of the caster is damaged, and the brake needs to be repaired or replaced, please contact our
after-sales service department or authorized dealer provide by our company. Every time the brakes are replaced, the brake perfor-
mance of the casters must be retested.

GIMA WARRANTY TERMS
The Gima 12-month standard B2B warranty applies.



